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QUESTION BOOKLET
This question paper contains 100 questions. / 38 I3 I T100 I 2 |

All questions are compulsory. / axft yo arfe E | )
One question carries two marks only. / T I3 % foTT et Q1 37 2 |
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1.  The potential difference of 10 V is applied across a 2.5 ohm resistor. The
energg consumed in heat units in 5 minutes is _
gA; 870 calories gB; 3000 calories
C) 2770 calories D) 2600 calories

2.5 3 o giqerss W 10 V &1 favarat o = | 5 fafie o 3w &6 sois |
mfﬁ'@tm%
(A) 2870 %l (B) 3000 FeAl (C) 2770 FeA’l (D) 2600 hetrl

2. Which of the following correctly defines the Norton Theorem ?

(A) The current flowing through a resistor connected across any two terminals
of a network can be determined by replacing the whole network by an
equivalent circuit of a current source in series with a resistance.

(B) e current flowing through a resistor connected across any two terminals
of a network can be determined by replacing the whole network by an
equivalent circuit of a voltage source in series with a resistance.

(C) The current flowing through a resistor connected across any two terminals
of a network can be determined by replacing the whole network by an
e%uivalent circuit of a current source in parallel with a resistance.

The current flowing through a resistor connected across any two terminals
of a network can %e determined by replacing the whole network by an
equivalent circuit of a voltage source in parallel with a resistance.

e o 9 o T T St wE afeniya st g ¢

(A) Tl afaie & genfed g 8w Jeash & $15 T Al & IR TAifSa
foparm T 2, R e i A0ft | T Wiy < T 9 |id o IHged T
g Sgeeht 3Td TehaT ST Eehdl 8 |

(B) el ufalier & yenfed a0 58w Jeash & +15 @ 2fiaeti & IR TAifsa
fore T 2, QU Acash 1 it ¥ T Uiy % WY Aieedl Wid o THeY
TTTeT gRT Secteht J1d fohaT ST Eehdl & |

(C) el afaier & yenfed 9 S8 U eash & +15 Q1 el & IR TAifSa
forer T 2, QU eaeh i THTaX H Ush YUY & {1y 9 €id THged IHuy
g SeeTeht JTTd TohaT ST Eehal 8 |

(D) el afaier & venfed 90 S8 U Seash & +15 T Al & IR TAifSa
forar T 8, R AIeaeh ! AU § TS Ufaly o A1 dieedl Jid o THqed
YT gRT Secteht J1d T3 ST Eehdl & |

(D)
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Three cells, each having an internal resistance of 0.5 ohm, when joined in
parallel, send a current of 1.2 A through an external resistance of 1.5 ohm.
The emf of each cell is

o Bt Rorment 3rafies ufaier 0.5 370 8, I« 99T | S 9 &, of 1.2 A <l
R Teh STel T 1.5 39 & Y907 hid & | T T ol [9.91.9. 8

(A) 18V (B) 1.5V (C) 3.0V (D) 2.0V

A conductor of 20 cm length and carrying a current of 25 A lies
perpendicular to the field of strength 1000 AT/m. The force acting on the
conductor is

Teh TTTeh oh! F TS 20 cm 8 T 25 A sl &R 987 hd! 8, 1000 AT/m &
T o &1 o STrad & | TTeteh W e §ef &

(A) 52.83 x 104N (B) 62.83 x 104N
(C) 62.83x 105N (D) 52.83 x 105N

A coil of 500 turns 1s linked with a flux of 2 mWb. If the flux is reversed in
4 m sec, the average emf induced in the coil is

Teh 500 W aTelt HUSE 1 TFh 2 mWb FoTad o T § | If¢ %799 4 m sec §
et feram STt et § Sfa 3fteq fo.ara.

(A) 400V (B) 1000V (C) 500V (D) 300V

The instantaneous value of an alternating quantity is 40 sin ot. Then its
RMS value is

Toreft Treerdt TSt <hT aTeatfoTes A 40 sin ot 8, a7 39 RMS AH 8
(A) 28.28 (B) 56.56 (C) 30.24 (D) 40.40

The units of true power, reactive power and apparent power are ,
, respectively.

[aNaN

ST fereh UTa, SfdfshaTenes qTa U7 TeeT UTe shi SehlsaT shuSl: 8 ,
, |

(A) MVAR, MW and/@TMVA  (B) MVAR, MVA and/as1 MW
(C) MW, MVAR and/@TMVA (D) MW, MVA and/am MVAR
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10.

11.

12.

A series resonance circuit is often called

(A) Acceptor circuit (B) Rejector circuit

(C) Both (A) and (B) (D) None of these

T HUfT SIS NI g1 haddl & :

(A) TTE iy (B) IwmEl (frieret) whtwer
(C) (A) T (B) S (D) ¥ & P T

Non-inductive loads of 8 kW, 6 kW and 4 kW are connected between
neutral and red, yellow, blue phase respectively of a 3 phase, 4 wire system.
The line voltage is 400 V. The phase current in red phase is

TR R 8 kW, 6 kW T 4 kW =gt T2 oTed, et et el o HET ShA9T: Toh
Frehell, TR-dTR JuTTelt & AN & | 18T aleedl 400 V 8 | et %ol § %l 910 &

(A) 1732A  (B) 2596A  (C) 24.62A (D) 34.64 A

The impedance Z, = 6 + j9 and Z, = 6 — j9 are added. The resultant
impedance will be

TIAse1 Z, = 6 +j9 AR Z, = 6 — j9 e ¢ & | TR fcrsmern g -
(A) 15245°  (B) 1240° (C) 152£0° (D) 12/45°

Two coils of self-inductance 120 mH and 250 mH and mutual inductance of
100 mH are connected in parallel. The equivalent inductance of combination
if mutual flux helps the individual fluxes is

I 120 mH 3R 250 mH % ¢ HUSiert auT qRedieh Jehed 100 mH i
FHIA H ST foparm T | afe Irediies Tt qUsh-JUeh FoieEl i HETIeh 8l
T 39 TS I o Wehed & -

(A) 117.65mH (B) 35.08mH (C) 110.65mH (D) 45.08 mH

A certain piece of aluminium is to be shaped into a conductor of minimum
resistance, its length and cross sectional area shall be respectively.

(A) Land A (B) 2Land A2 (C) L/2and2A (D) L/2 and A/2
Teh TIHTEM 1 MiTaa gohel 9 T & IfliY < =TeTeh o €9 § I foha

ST 8, 3Heh! TIHITS T Shie TN=C h &A%l ShAST: BHT ITET :
(A) L3IRA  (B) 2L3RA2 (C) L23W2A (D) L2 3RAL
5 Code No. : C-437/2017/Series-A




13. A thermal power station has the following data :
Maximum demand = 25000 kW, Boiler efficiency = 80%, Turbine
efficiency = 85%, Consumption of coal = 0.9 kg/kWh, cost of 1 ton of
coal =¥ 500, load factor = 40%. Then number of units generated per hour is

Teh Afargd wyH o foe e g &
JATIRAT | = 25000 kW, SR €&TdT = 80%, 2SS C&Tdl = 85%, hidct hi
TId = 0.9 kg/kWh, 1 7 SRIel st hiFd = T 500, TR U6 = 40%, q& Jfd =9

3Icq Il hl T F -
(A) 8760 x 106 kW/h (B) 8760 x 105 kW/h
(C) 8760 x 10> kW/h (D) 8760 x 10* kW/h

14. Which of the following is not a disadvantage of hydroelectric power station ?
(A) Fish migration is restricted.
(B) Reservoirs alter slit flow patterns.
(C) Available water and its temperature may be affected.
(D) Unscheduled breakdowns are relatively frequent.

e O @ = Serforega wifed IH < T AT TE 8 7

(A) T aeH gfaefd g |

(B) S T3l wamg e ol e # |

(C) 3I9TeY TeA AT Gk ATIHT bl JTferd foharm ST Tehel 2 |
(D) SRER A Sl &l 91 & |

15. Four consumers having their maximum demand of 15000 kW, 12000 kW,
10000 kW and 8000 kW respectively are supplied by a power station. The
maximum demand of the power station will be, if the diversity factor is 1.2
and the annual load factor is 50% :

TR 39T, TSehl SAfereha™ /T HART: 15000 kW, 12000 kW, 10000 kKW dem

8000 kW &, <l afct e wifdd WA | &1 W& 7 | 37 TR WA hI 3Aferehan i
=1 gt afe fomar (Srgafdd) ures 1.2 aun anfies o %eet 50% 27
(A) 37500kW (B) 36500kW (C) 35500kW (D) 38500 kW

16. Under conditions, ELCB core balance transformer does not
carry any flux.
(A) Short circuit fault (B) Earth fault
(C) Normal (D) Abnormal
gftferfeai # ELCB SR Siei=d ZIEwHhIH i3 Foia &l of Tehdl 8 |
(A) o IREYE g (B) 4-TN
(C) ™= (D) g™

Code No. : C-437/2017/Series-A 6



17.

18.

19.

20.

Translay protection scheme used for the protection of feeders is an example
of balance differential protection.

(A) Current (B) Power (C) Voltage (D) Phase
T TV ThIH, S HISU ol TRETUT o foTC SR <h ST &, sotrd 37T TReau
1 Toh ICTEWT & |

(A) 9w (B) U (C) dieedl (D) &
The velocity of propagation of electromagnetic waves is on
overheads lines and on cable it depends on of

(A) 3 x 108 m/s, relative permittivity, dielectrics

(B) 3 x 108 m/s, relative permeability, dielectrics

(C) 3 x 108 m/s, absolute permittivity, dielectrics

(D) 3 x 108 m/s, absolute permeability, dielectrics

TR ATt W foraeraehia Tl o =T Wl AT BT & aUT helel
g ED TR R 2 |

(A) 3 x 108 m/s, 3TUTeTd ST, WY

(B) 3 x 108 m/s, 3Tuferd IR, Ted

(C) 3 x 108 m/s, FRU& TIEATh, Tagd

(D) 3 x 108 m/s, e arer=rar, waed

The maximum efficiency of solar cells is achieved with the band gap
energy of

T dg o 91 & 91 9ieR 9 bl 31fererdd cerdr 31fid <hl ST Tehdl @

(A) 1.12eV-23eV (B) 23eV-3.12¢eV

(C) 04eV-1.1eV (D) 3.12eV—-4.23¢eV

For OTEC, a temperature difference of is adequate to produce a
significant amount of power.

OTEC  feTg, ST ATITAE Ush TTa <hl ETieh T Icd~ i b felt g 2 |
(A) 30°C (B) 10°C (C) 20°C (D) 12°C

7 Code No. : C-437/2017/Series-A



21.

22.

23.

24.

On the basis of power available from wind, the wind turbines who have power
output of 50-500 kW and rotor diameter of 16-50 m are categorized as

(A) Medium size wind power plant (B) Large size wind power plant

(C) Small size wind power plant (D) Micro size wind power plant

e | IUCTeY Ta o SATUR 9, Ta- S8 TSeeht e 3THZYE 50-500 kW 3R
T A 16-50 m ! Ffiehd Tehall ST 8 -

(A) TH AR USH T @@ 80 (B) <rd TR Yo vfgd o
(C) oY AR qa Ifed o= | (D) T&H 3R Je fad @93 4

Renewable energy sources have energy density.

(A) High (B) Medium (C) Comparable (D) Low

T R TOT Sl | | Sl T BT & |

(A) 3= (B) wemH (C) Ferredss - (D) =

The maximum discharge current is calculated by the following expression

and is the testing factor in selecting the batteries size.
(A) Maximum discharge current = Continuous load (W)/Rated voltage (V)
(B) Maximum discharge current = Short time load (W)/Rated voltage (V)

(C) Maximum discharge current = (Continuous load (W) + Short time load
(W)) / Rated voltage (V)

(D) None of these
= rftrerstss & g SAfehdd 3MERH GRS TUET Y S § 3R I8 Sl
AT h T3 H Teh TI&T0] T 3 -

(A) AT RN IR = Fad Alg (W)ALE dieedr (V)

(B) ATIHaH AN IR = FcUshiet eig (W)ALE dieedr (V)

(C) fehad IMTAYH 9T = (Fdd &I (W) + SeUshIci A8 (W))Aes dieedt (V)
(D) T ¥ HE &

Resistivity of copper is of the order of

UL ShT TfcRIerehdT shT hITE & -

(A) 1.56 p-ohm-cm (B) 3.12 p-ohm-cm
(C) 6.62 p-ohm-cm (D) 22.05 p-ohm-cm

Code No. : C-437/2017/Series-A 8



25.

26.

27.

28.

29.

Super conducting materials can be used for windings in transformers and
electric motors so as to get efficiency and size of motor can be
largely :

(A) Fifty percent, reduced (B) Fifty percent, increased

(C) Cent percent, reduced (D) Cent percent, increased

rfa =rerehia el w1 W TrAw™ qeT T wed § wuedt ¥ for S dehan @
dTfeh T I Bl Hoh 3T WIS 1 STHR Jag dR T B |

(A) I=TE gfasTa, s (B) "=t gfawrd, 31fees

(C) ¥1a yfcrerd, sH (D) 31d gfaera 3Afees

Field coils of electric motors are insulated by

(A) oil (B) cotton (C) jute (D) wvarnish
fergga el Y 8t pueel frm & gra Uftra F STt 2

(A) @ (B) 1A (C) (D) aTHm

Following are the main factors which affect the properties of ceramic
materials :

(A) Moisture  (B) Temperature (C) Pressure (D) Both (A)and (B)
fRfies aerat o Toredt sl T9Tfad S § THE e (&

(A) 3 (B) draEH (C) < (D) (A) 3T (B) gHl
Polystyrene is

(A) Anester (B) An alcohol

(C) A hydrocarbon (D) An alkylhalide

AR & -

(A) ThTERX (B) T Teehlee

(C) U EEGIhIEA (D) U TehISAaelISS

Volume of the conductor material for the transmission of 3 phase AC power
is given by the equation
(A) Volume = 3p?pl?/w.v2.cos’e  (B) Volume = 3ppl*/w.v2.cos?p
(C) Volume = 3p?p?1¥/w.v2.cos’¢ (D) Volume = 3p?pl?/w.v.cos ¢
fopeft Brerett AC 9TaR o H=01 & fTU =imetes gered o1 SARdq e gefieor 9
fIehTeAT ST FehaT 3 -
(A) JA™FAT = 3p?pl?/w.v2.cos’p (B) 3A™AT = 3ppl?/w.v2.cos*@
(C) AM™AT = 3p?p?1?/w.v2.cos?p (D) 3A™AT = 3p?pl>/w.v.cos ¢
9 Code No. : C-437/2017/Series-A




30. An overhead line has a span of 200 m. The line conductor has a weight of
684 kg per 1000 m. If the maximum permissible tension is 1450 kg, the sag
in the line is

Teh STSES ATET ol I 200 m & | AT =TeTeh T YT 684 kg Tfd 1000 m B |

fe JTfRehal A aM 1450 kg &1, 1 oI | &7 (3 ® -
(A) 3.36m (B) 2.36m (C) 4.36m (D) 3.24m

31. The charging current in the lines

(A) Lags the voltage by 90° (B) Leads the voltage by 45°
(C) Leads the voltage by 90° (D) Leads the voltage by 180°
TS H =TT & -

(A) dieedt H 90° T Uve T&dt & | (B) dleedT ¥ 45° { 317 &l & |
(C) dleedl® 90° A MG g | (D) dleedrd 180° T 311 Tl 7 |

32. In adouble fed distributor, the point of minimum potential is
(A) Centre of the distributor
(B) The load point which receives current from both sides
(C) Atoneend
(D) Out of the distributor
T qrat Hoftd fordies o 3teaad fovel o fomg 2 -
(A) faas w15 |
(B) ¥R (Ars) forg S M1 TR & 9T U201 L1 2 |
(C) THBRWE |
(D) faas S amEt? |

33. Capacitance of a single core cable per km length is

Torelt uehel SR haet shi e feprt orrang Y enfean 3
(A) C=0.024€ /log,, (D/d) uF/km (B) C=0.024€ /log,, (D?d?) uF/km
(C) C=0.024p/1og,, (D/d) pF/km (D) C=0.024p/log,, (D?*/d?) pF/km

34. A 250 V, 50 Hz, 300 km transmission line has a capacitance to earth of
0.03 uF per km per phase. The rating of the Peterson coil for neutral
grounding of the system is

T 250 V, 50 Hz, 300 fert d=mor efrea st -7 W enfiar 0.03 pF ufa fordt
g et 8 | JoTTedt < IgrEf Inefen fewmm guea i ifem 8
(A) 128Q (B) 108 Q (C) 118Q (D) 110Q

Code No. : C-437/2017/Series-A 10




3S.

36.

37.

38.

39.

Corona loss in the transmission line can be reduced by

(A) increasing diameter of the conductor

(B) increasing spacing between the conductors

(C) decreasing spacing between the conductors

(D) (A)or(B)

T TS § ShITHT &1 =1 6 gIT W <hi 511 Tl & -

(A) =ITeTeh o SATE 1 Jg b | (B) =TeTehi o HET 3T ST |
(C) I AT M FA RS | (D) (A) 319aT (B)

Transformer action requires a/an

(A) Constant magnetic flux (B) Increasing magnetic flux
(C) Alternating magnetic flux (D) Alternating electric flux
TG GishaT § 3TEvah 7, Th

(A) TOR =6 " (B) ST g1 Frelchl¥ FoTod
(C) ScaTac rarehl™ Fered (D) ScaTad Tt woted

A 400/200 V transformer has total resistance of 0.02 pu on its 1.v side. This
resistance when referred to h.v side would be

T 400/200 V TFIBH T et Tfalie 0.02 pu 1.v =1 dicear W 2, 59 3=
TleedT h.v T 38 Ty &1 e &t a1 I8 B -
(A) 0.02 (B) 0.04 (C) 0.01 (D) 0.08

A three-phase star delta transformer has primary to secondary turns ratio per
phase of 5. For a primary line current of 10 A, the second line current would be

Teh FIehell TR -geal SN AT <ht smeifires @ fedires o &t o1 3um, gfd
AT 52 | U A1 o few &y 10 A B, o feefiaes arga g anf
(A) 50 A (B) 86.6 A (C) 3464A (D) 150 A

In an oil filled transformer, oil is provided for

(A) cooling (B) insulating

(C) both cooling and insulating (D) preventing the accumulation of dust
Teh 01 O W IEHER H ot W 7T &

(A) fiaer  ferg | (B) Tergatigm < foru |

(C) Sftae au faggatied gHi o foT | (D) et < STH1E § T80 o fofT |

11 Code No. : C-437/2017/Series-A



40.

41.

42.

43.

44.

A 240 V dc series motor takes 40 A when giving its rated output at 1500
rpm. Its resistance is 0.3 ohms. The value of resistance which must be added
to obtain rated torque at 1000 rpm is

Tsh 240 V de Joft WX 40 A St B} 99 98 1S 3MSede 1500 rpm & & 2 |

3T Ifag 0.3 Q 8 | 1000 rpm W L eh I A o fI¢ e 9 a7t
Tfeer <1 A §
(A) 6Q B) 57Q €) 220 (D) 1.90

The maximum possible speeds (in rpm) at which an alternator can be driven
to generate voltages at 60 Hz and 50 Hz are respectively

Teh YA bl HAS: 60 Hz a1 50 Hz <hl dieedl 39 % & fau &
TRy |9E I (rpm H) ST ST Hehall 7, ShAST: &
(A) 2000,2400 (B) 3000,3600 (C) 2400,2000 (D) 3600, 3000

A three-phase synchronous generator is operating at constant load while the
excitation is adjusted to given unity power factor current. If the excitation is
now increased, the pf will

(A) become leading (B)  become lagging

(C) remains unity (D) become zero

Teh et qediehiiolsh SIiH f2R i W iEtiord g | STefeh 3uei @l fe 7T 318
ITeR e G 9 FHTITTSTA Fohall TR 8 | A ITis ol si@T feal <, al pf

(A) 37 & W | (B) U &I U |

(C) Tl ST T | (D) I &S |

In case of 3-phase induction motor, shaft power is 2700 W and mechanical
losses are 180 W. At a slip of 4%, the rotor ohmic losses are

forefl repett JTOT | | IR 9TeR 2700 W B 9T ek g 180 W B |
4% TETq T AT 1 3N BIfat &

(A) 1152W (B) 120 W (C) 108 W (D) 105W
Induction generators deliver power at

(A) Unity power factor (B) Zero power factor lagging
(C) Leading power factor (D) Lagging power factor
SROT ST TR feefiet i % -

(A) I TR Tt | (B) I UTeR 999 W

(C) 3T UTeR Heel U9 W (D) U TR Rl U9 T

Code No. : C-437/2017/Series-A 12



45.

46.

47.

48.

49.

When the supply voltage to a three phase squirrel cage induction motor is
reduced by 20%, the maximum torque will decrease by

STet fereft et feraat ohat SRUT Hiet 1 3T dieedT 20% HH L & St &,
(A) 10% (B) 20% ©) 36% (D) 40%

Iron core is inserted in the air cored coil so that now the coil becomes iron
cored coil. Inductance of this iron cored coil will

(A) Increase

(B) Decrease

(C) Remains the same

(D) Increase or decrease depending upon the coil configuration

9T 1T PUSH! T Tlg R hl HolH fhdT ATAT g d I8 376 Tig HR HUSe! o
ST & | 39 Tilg I HUSH! bl IXTT

(A) S¢S |

(B) =@ |

(C) =& T |

(D) ST AT T FUSHH! shl AT T T T |

The minimum number of wattmeters required to measure the real power in
an n-phase system with unbalanced load is

Rl n-shetl JUTTelt & STEqfcTa A8 |1 IR ITa 0199 & fo7u aieHtet &t
ATIYIH HH U HH T 8

(A) n (B) n-1 (C) n+1 (D) n-2
Belt Conveyors offer starting torque.

(A) high (B) medium (C) low (D) zero
oT HAW TR 2feh Icd~ AT 2 |

(A) 3= (B) w&m (C) Fm (D) =

For arc heating, the electrodes used are made up of

(A) Copper (B) Graphite (C) Tungsten (D) Aluminium
3Teh ATYA o foTU Sferd SoTereied & 81d & :

(A) B H (B) THIEH (C) TTAH (D) AT %
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50.

S1.

52.

53.

54.

5S.

For heating of plywood, the frequency should be

TATIE I TH i o foTe ST BT =fe -
(A) 1-2MHz (B) 10-25kHz (C) 1kHz (D) 100 Hz

When a sodium vapour lamp is switched on, initially colour is

(A) Red (B) Pink (C) Yellow (D) Blue
Teh TITSIT IR HT oh! I Tl 3719 Toham Srar 8, a1 37 | T 8T &
(A) & (B) TSt (C) dtetm (D) et
The lamp that causes radio interference is

(A) Fluorescent lamp (B) Halogen lamp

(C) Mercury vapour lamp (D) All of above

TE VT T ST SATThT0T ST hLdT &
(A) Ufadifcd e (B) g @™ (C) URE arsd i (D) I8 o+t

Area under speed-time curve represents
(A) Total distance travelled (B) Average speed
(C) Average acceleration (D) None of above

wfig-oTeH 95 & Wit &F guriar &
(A) FATMGY (B) @@= (C) Eda=® (D) s T8l

The average speed of a train is independent of

(A) Duration of stops (B) Acceleration and braking retardation
(C) Distance between stops (D) Running time

T o S = e iR i R

(A) Tig &t Aafy (B) TIOT T SifehTT 37aHEH

(C) iqm s asgl (D) T erEH

A 1 mA ammeter has a resistance of 100 Q. It 1s to be converted to a 1 A
ammeter, the value of shunt resistance is

Teh | mA THET T Ifaler 100 Q7 138 | A THST H §iee T 7, I g HIAF 2 -
(A) 0.001Q  (B) 0.1001Q (C) 100000Q (D) 100Q
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56.

57.

58.

59.

Which instrument has the highest frequency range with accuracy within
reasonable limits ?

(A) Moving iron (B) Electrodynamometer

(C) Thermocouple (D) Rectifier

1 Tohe IURT0T <RI ST T8 G o |19 FATTa W13 o HiR I=aH 8 7
(A) I AR (B) SaISRRAT

(C) miwTd (D) FHRRR

The burden of current transformer is expressed in terms of

(A) Secondary winding current

(B) VA ratings of transformer

(C) Voltage, current and power factor of secondary winding circuit
(D) None of above

T TTAHTHL bl TS TS UGl | oo {ShaT AT 8 7

(A) Tedares stueT ama

(B) MBI VA e
(C) Tecfiaes etieT aftay shi Seedt, GmT qe Ter et

(D) 3 IS &l

Light load adjustments for induction type energy meter are usually done at
(A) 10% of full load current (B) 5% of full load current

(C) 50% of full load current (D) 1% of full load current

U7 TR HATHTH] o feTU cten] TIg GHRISH A= foram SITan 2 -

(A) 10% Ui &I & W (B) 5% qoUi &l & W

(C) 50% JUT A & W (D) 1% 9ot &l & W

A diaphragm has a natural frequency of 30 kHz. If the both its diameter and
thickness are halved, the natural frequency is

Tsh STATHH o JTehfdeh ST 30 kHz Bl & | TG =& T Hiers Qi 3141
fean StTw, 1 wreRfep STt B
(A) 15kHz  (B) 240kHz (C) 60kHz (D) 120 kHz
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60.

61.

62.

63.

64.

65.

Feedback amplifier always helps in

(A) Controlling its output (B) Increasing its gain

(C) Reducing input impedance (D) Stabilizing gain

FIgaeh TEATHIET UM T 8id @ :

(A) 3Teye ez 8 (B) gHeh! AAfey sigH |

(C) 3YC TfcrameT &»H i | (D) dfel fer A o

PVC conduits can be buried in

(A) Plaster (B) Lime (C) Concrete (D) All of these
PVC S+8JZH ! ol IITdl &

(A) WERXH  (B) THH (C) SR (D) T@af o
The 555 timer has number of modes of operation.

555 TSI § uftared & 6 g g |

(A) 2 B) 3 ©) 4 (D) 5

J-K flip-flop can be made from an S-R flip-flop by using two additional
(A) AND gates (B) OR gates (C) NOT gates (D) NOR gates
ERSIRIEER 1 TN L J-K TRT9-amd &1 S-R foed-wm § HiHa

ERISIKETIRE

(A) ANDgRi (B) ORGgWN (C) NOTgRi (D) NOR gii

Which of the following counter results in least delay ?

(A) Ring counter (B) Ripple counter

(C) Synchronous counter (D) Asynchronous counter
fr= 19 91 7707eh (Sh13=eX) S © A foorre @ qonfd g g ¢

(A) T s (B) et ®=X

(C) qeThllcteh HI3<L (D) SAeTBIICTeh HIIT

In a thyristor the ratio of holding current to latching current is
forelt ermfreet 1 gifee 9T & o 9T 1 37914 8
(A) 25 (B) 1.0 (C) 04 (D) 4.0
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66. In a diode the cut in voltage and forward voltage drop are respectively

Tortt BT | dicedr-ohe 3T 3T dicedl UTd shasl: & -
(A) 07V.0.7V (B) 07V,1V (C) 0.7V.06V (D) 1V,0.7V

67. Kelvin double bridge is used for measuring
(A) High resistance (B) Low inductance
(C) Low resistance (D) High inductance

<hfcad ol S8l fois T o WU | Jed BT @

(A) SEUfE  (B) e Wsa  (C) F=yllis (D) 3= Wehaa

68. If V,, is the peak voltage across the secondary of the transformer in a half-
wave rectifier (without any filter circuit), then the maximum voltage on the
reverse-biased diode is

Ffe V,, Toret T o fgdters it foredt weh areiat s o faver dieedn 2 |
(o ot} Toheet uftaer &) o uv= sfad SR W 31frehdd dicedn i

(A) Vm B) 2Vn

Vin (D) None of above / 3ad hig &l

69. A Field-Effect Transistor (FET)
(A) Uses a high-concentration emitter junction
(B) Uses a forward-biased PN-junction
(C) Has a very high input resistance

(D) Depends on minority-carrier flow

e e gehe 2Tforet (FET) :

(A) 3= TIgdT IcESish HiY ol ITANT AT 2 |
(B) 31 ST PN-HIF s IR LT 7 |
(C) At 3= gAY Tfaty T@aT 2 |

(D) 3TcUTY dTgeh JaTg W et et 2 |

17 Code No. : C-437/2017/Series-A



70. We use a crystal oscillator because
(A) it gives high output voltage.
(B) it works at high efficiency.
(C) the frequency of oscillations remains substantially constant.
(D) it requires very low dc supply voltage.
T Ueh Tsheeet QIfeTsl b1 ST ohid & FAioh :

(A) I8 I ATSHeYL dleedl a2 |

(B) I8 I c&TdT W HM HAT 7 |

(C) e ot ITraf waie feor et 2 |

(D) 34 3 f de 3mafd Seedt i STTewehdl il ¢ |

71.  Which among the following rulers captured the Kangra Fort in 1337 ?

(A) Muhammad bin Tughlaq (B) Firoz Shah Tughlaq
(C) Mahmud Ghazni (D) Ibrahim Lodhi

frt fopmr STTEeh 3 1337 | hTST o1 fehet shaat | o foram o 7

(A) TeHe-foA-grersh (B) ThUSI-3Mg-qTeish
(C) weqe 7o (D) 3w el

72. The Chief Commissioner’s province of Himachal Pradesh came into
existence on

(A) 15% April, 1950 (B) 15™ April, 1948
(C) 1% October, 1956 (D) 25" January, 1971
TeHTaeT T H & AT o1 UTd el HTedced | 3R 7

(A) 15318, 1950 (B) 1531, 1948
(C) 13Tes, 1956 (D) 25%Had, 1971

73.  Which of the following passes is not located in Dhauladhar range ?
(A) Jalsupass (B) Indrahar pass(C) Kunzum pass(D) Rupin pass
Tt 1 o et efetTer yeauTen # fedrq 7Ei 7 ¢

(A) S (B) $HeR&  (C) F9Acl (D) &

74. ‘Pabbar’ is the tributary of which river ?

(A) Tons (B) Yamuna (C) Beas (D) Chenab
‘Tee foRd <) ST TR TG B 7
(A) = (B) =g (C) =™ (D) fere
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75.

76.

77.

78.

79.

In which of the following districts Nako lake is situated ?
(A) Kinnaur (B) Lahaul-spiti (C) Chamba (D) Shimla
fet ferr foret o mept fiet srafRua g 7

(A) TR (B) WEM-&fifd (C) =wa (D) Rra
The book ‘Himalayan Polyandry’ is written by

(A) Dr.Y.S. Parmar (B) D.N. Majumdar

(C) Devraj Sharma (D) Vikram Sharma

“TemTera difeTe~gl’ qdeh o @ &

(A) EI. 99, TH. YR (B) $l. . ASHER

(C) <o yEi (D) fershm st

Who has been conferred with the 2017 Harvard Humanitarian of the year award ?
(A) Aung San Suu Kyi (B) Robyn Rihanna Fenty
(C) Thorbjorn Jagland (D) Bishop Desmond Tutu
BRES FPAMNEA, 2017 9N 1 TaTe fopd feam man g 2

(A) 3T aH & F= it (B) e fgmn =

(C) YUTSTH STIvg (D) forem S@vE 22

When did the demonetization of ¥ 500 and ¥ 1000 notes take place ?
(A) November 18, 2016 (B) December 8, 2016

(C) October 18,2016 (D) November 8, 2016

% 500 AAT T 1000 i F1ei T Termitfgentor e g3t o ?

(A) TR 18,2016 (B) feomm 8, 2016

(C) 3IHEL 18, 2016 (D) A% 8, 2016

The term ‘Paper Audit Trial’ is related to

(A) Electronic Voting Machine

(B) Banking

(C) Money Laundering

(D) Competitive exams conducted by CBSE

YR 37Tfee T’ U o1 TaY 2 :

(A) SoreRiTeh aifem mefia (B) ek

(C) o em3~sfn (D) CBSE gRI g=ifetd Sfcrifiar qdremd
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80. Which of the following has become the first Indian bank to achieve a
customer base of 50 crore ?

(A) State Bank of India

(B) HDFC Bank

(C) ICICI Bank

(D) The consolidated State Bank of India after the merger of its associate with it.

ot i €t S 50 e UTEshl STUR aTell TUH WA Seh S TS R 7
(A) T S 317 gfugan

(B) HDFC s

(C) ICICIS®

(D) 31T HERI sehi o faer™ o A1y Tl We S AT sfugan

81. Who was the last apostle of the Sikhs ?

(A) Guru Gobind Singh (B) Guru Arjan
(C) Guru Angad (D) Guru Teg Bahadur
gt % ifem ey i A ?

(A) Mg THE (B) Tes™H  (C) TR (D) TE A7 @G

82. In which year did Akbar defeat Hemu in the second battle of Panipat ?
ITHTTd o QR I6 H TohH oY 3Tehe 3 g ! TINA fehalt T ?

(A) 1526 (B) 1556 (C) 1761 (D) 1757
83. To which Indian goes the credit of initiating the theory of drain of wealth ?
(A) D.R. Gadgil (B) Dadabhai Naoroji
(C) M.K. Gandhi (D) R.C.Dutt
Tore WIRCT™ <1 FUe @It B (S 31T Jer) i FgTa Jafad i o1 S STar g ?
(A) .37 TERE (B) GTaTHTs AIISH
(C) T, meh (D) IR.H. T
84. ‘Kattha’ is extracted from the
(A) heartwood of khair tree (B) logwood
(C) bark of casuarina (D) stem and leaves of wattle
“he1 frsenfia fopam ST 2 -
(A) I T<:HS d (B) @TgES @
(C) e H B @ (D) dfeet sht ufaai aur o= |
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8S.

86.

87.

88.

Zawar mines (Udaipur) are famous for
(A) lead and zinc (B)
(C) mica and bauxite (D)
I 6 ST @H Tehereh fote wfrg & 2

(A) ofe aut S
(C) HIgehl AT SIS

(B)
(D)

The Nathu La and the Jelep La are in

(A) Himachal Pradesh (B)
(C) Uttar Pradesh (D)
1Y AT 3R AT AT E -

(A) Teame gem o (B)
(C) SWYIH (D)
Guru Sikhar is the highest peak of the
(A) Satpura Range (B)
(C) Aravalli Range (D)

e FRe foraeh! Tt =1 B 7

(A) TAYST qAqHTEAT

(B)
(D)

(C) Ia! TeaaTe

iron and copper
sulphur and gypsum

KIGRICART
okt a1 fwem

Jammu & Kashmir
Sikkim

ST Ud T H
IGIEER

Siwalik Range
Malwa Plateau

INENREREREINI

HTAT ohl U3TT

The Rajya Sabha has exclusive jurisdiction in

(A) The creation and abolition of states
(B) The election of the Vice President

(C) Approving a proclamation of emergency

(D) Authorising Parliament to legislate on a subject in the state list

TS AT T 3T SATIHR B -
(A)
(B)
(©€)
(D)

<31 o1 Yo 9 foaro

3UTSEatd 1 AT

JATATAhTCT Shl TTSUTT ST STTHIGH

21
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89.

90.

91.

92.

The Governor of a state may be removed from the office by the President
(A) at the request of the Chief Minister

(B) on the advice of the Lok Ayukta

(C) on the advice of the Union Cabinet

(D) on the advice of the Attorney General of India

Trsgufer o gy fehelt Tt o TSIUTSA ohl UE | BT ST Tehall &

(A) T & Feed W (B) TIhIRIE hl TFATE T
(C) H5T Tmee h Tellg W (D) WA & TEIHT STt 6l TeATg T

A retired judge of a High Court cannot

(A) practice in the Supreme Court

(B) practice in any High Court in India

(C) practice in the High Court from where he has retired

(D) practice in any court in India

3 AT 3 HATHEd AT T8 L Fehdl & -
(A) =9 T H Y™

(B) WA o ferdlt off 3= =maera A Sfeew

(C) 39 3= AT § Yfded SIef ¥ o Tarad g 8 |
(D) WRa & foreft off =mmer™ # dfgem

Which one of the following diseases is a contagious disease ?

(A) Beri beri (B) Pellagra (C) Diphtheria (D) Scurvy
T3 I |1 o U R AT R 7

(A) St-s@ (B) Yot (C) fewafan (D) Thdt

Energy from the sun reaches us by the method of
(A) Convection (B) Radiation (C) Conduction (D) None of these
T BH qh ol ol Uga fop fafr a gran g

(A) waETEd (B) ferfertom (C) =meH (D) 3 9 &S &l
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93. Vipul is taller than Hansa, Hansa is taller than Anand, Alok is taller than
Ashok, Ashok is taller than Hansa. Who is tallest ?

(A) Vipul (B) Alok

(C) Ashok (D) Cannot be determined.

forget §91 | 31 7, 91 3TFE | Sl 8, el 3TN ¥ a1 8, T30 gal 8
AT | DT GIE HATE 7

(A) faga (B) 3TTeATeh

(C) 3% (D) T &I feram ST wehd |

94. Rakesh is on 9" position from upwards and on 38" position from
downwards in a class. How many students are in class ?

TRl I H 99 T T 3N A= A heqt H 389 WIH W 2 | oherl | fopa foramefi g 2

(A) 46 (B) 47 (C) 45 (D) 48
95. I shall stand by you thick and thin.
(A) in (B) into (C) . about (D) through

96. Synonym of the word ‘Zenith’ is
(A) low (B) depth (C) highest point (D) defeat

97. Antonym of the word ‘Vulgar’ is

(A) Cheap (B) Expensive (C) Refined (D) Impure
98. JIKL?

(A) == (B) St (C) ==t (D) Imi=d
99, ‘YTYY’ W HH AT HATE B ?

(A) deges (B) e (C) §3 (D) wgshfe
100. Sicg I ST’ GaTer o1 31 7

(A) ogd T forehT (B) g@

(C) uftert (D) e aqu g
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